Math 1030, Homework Activity #5, Summer 2014 Name KEY

Sections 4.5, 4.6

Instructions: Complete the following problems. You may work alone or in a group. Do not just copy
answers from a group member, but be sure that you understand the problem. Similar questions will
appear on exams. You may be asked to explain or present the answers to the class. This assignment is
due at the end of the class period.

1. If a movie theatre sells adult tickets at $4.00 per ticket and children and senior’s tickets at $2.00
per ticket, find the number of tickets of each type sold in one night if the theatre sold 185 total
tickets and made $610.
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2. One day you decide to buy 20 first-class stamps and 10 postcard stamps for $11.10. Another
day you spend $47.10 on 80 first-class stamps and 50 postcard stamps. Find the cost of each
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3. Alab technician needs 60 ml of a 50% saline solution. How many ml of a 30% solution should be
added to a 60% saline solution to obtain the required mixture?
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4. Redo the above problem if pure water is added (0% saline) instead of tf solution.
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